Math 490 Quiz #b5 Tuesday 8 October 2019

Name: Score (Out of 6 points):

1. (3 points) Let (X,dx) and (Y, dy) be metric spaces, and let f: X — Y be a continuous map.
Prove that if S C X is sequentially compact, then f(S) C Y is sequentially compact.
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2. (3 points) Let (X,dx) and (Y, dy) be metric spaces, and let f: X — Y be a continuous map.
Either prove the following statement, or construct (with justification) a counterexample: If
B C X is a bounded subset, then its image f(B) C Y is bounded.
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